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QUESTION 1

In which two configurations would Advanced Drive Partitioning be used by default in ONTAP 9.5? (Choose two.) 

A. an AFF A700 with one DS2246 shelf containing 24 960GB SSDs 

B. a FAS2554 with 24 internal 1000 GB SATA HDDs 

C. a FAS8040 with one DS2246 shelf containing 24 900 GB SAS disks 

D. a FAS9000 with one shelf DS212C with 24 800 GB SAS HDDs 

Correct Answer: AC 

 

QUESTION 2

A node joins a cluster in ONTAP 9.5. 

Which statement is correct about the NTP configuration in this situation? 

A. A node that joins a cluster must reboot before running the NTP service. 

B. A node that join a cluster has a separate NTP service. 

C. A node that joins a cluster must be manually configured for NTP. 

D. A node that joins a cluster automatically adopts the NTP configuration of the cluster 

Correct Answer: D 

 

QUESTION 3

A customer wants to reduce the disk allocation requirement for the root aggregate and increase usable storage by
partitioning the disks into one large part and one small part. The small part is used for the root aggregate and the large
part for the data aggregates. 

In this situation, what is this feature called? 

A. ONTAP 

B. storage virtual machine 

C. Advanced Drive Partitioning 

D. RAID 

Correct Answer: C 

 

QUESTION 4
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Which two commands verify that AutoSupport is working as expected? 

A. autosupport test show 

B. autosupport history show 

C. autosupport check show D. autosupport show 

Correct Answer: B 

 

QUESTION 5

Which NetApp tool relies on PowerShell to produce a comprehensive handover report to the customer? 

A. Active IQ 

B. Config Advisor 

C. NetAppDocs 

D. Fusion 

Correct Answer: C 
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